4,70

(@] |10 AW|UV O
O N[O N[O N
— MO M| oM
m O |« O|<c O
o zZ | Z|Mm =
~ mlZzm|AXm
21 == wlo
) m|Z 7|2
- A |Mo|s
28 2lz
Eloc|m
T
z
3,70
_347 94,59 | 94,59
0] 94,71
_395 494,81
: 94,69 |54 7g
~2.65 1 904,277
94,25
150 |94,55 | 194,77
94,55
0,00 |94,48 |94,52 |94,74
94,49
150  |94,48 | 194,71
94,18
94,16
2,65 | 94,59 1969
5,25 | 94,56 |94,66
3,85 94,06
425 ] 94,06
4,56 194,37 | 94,37

00°06 = 'd'd

wzz'0 = dASW ||
Twz6'0 = dovAm [ ]

SN

0011 /00L:L 91oXS

00°0GY "Mid

w
s| zlzalzal LIE 5
— MlodMmio M W = =
m O | O|C O = )
Q Z|l_z|lOz|0D 2 = N
ol TIERI2TIPT S =
%3 ﬂﬂ__ =Ww|lo I (LT O
e o|m 3|2 o o (&)
mloS|Z © ™ v ~
=z O N w© —
Z|N c|m D 3 3 =
c | O [S SIS —
T S o
P4 (@)
—3,70
3,62 - 95,02 ] 95,02
95,29
_ i 195,39
3,25
e 9,27 |45 57
T 94,857
94,82
-1,50 95,07 | 195,34
95,12
0,00 95,04 95,10 |95,32
95,07
150 [95,06 | 195,29
94,76
94,74
265 | 95,17 {9527
3,25 | 95,11 195,21 Y
385 94,61 y4
425 ] 94,61 _
469 195,06 | 95,06
4.70.

00°00% "Mid



